FINISHED WALL / BACK SPLASH
e LIS E/ G AR

NOTE: Make sure enough faucet installation clearance.
AR: MBEBHRLLETE.

KOHLER.

K_26677T SEMI RECESSED VEJI%;LQ\;\A%?@R%
CUT-OUT TEMPLATE / INSTALLATION INSTRUCTIONS
- MICA 225

_— _ = = ) AN
l — — ALl UL
\
— e Please cut the cabinet according to the e RERIRZVIFIETF, FEESEEATFT
lines on the template. If the cabinet top is . BHENEABERYIBIL.
/ \ not flush wit.h the countertqp, please adjust / //////// m N
\ the cutting lines of the cabinet top E%lﬂ
accordingly. /‘ )
/ o Temporaily position the lavatory on the % o HURBARMELSHL, HERELTTRE
/ \ countertop, make sure the bolts are fixed % L, RIEAME.
through the mounting holes, and adjust to 7
/ \ proper position. /
& CAUTION: Risk of personal injury or & Ml BEBERSHHIFER. BX
/ product damage. Large lavatories are ARAELE, BRAEZ—ERIEK
very heavy. Get help lifting the lavatory R,
/ \\ N L into place.
aE =, 2
|
BEFORE YOU BEGIN = ?:Z RY " U e Trace a pencil line around the outside edge s AREMRBIINFEHRRSE LN,
\ e Observe all local plumbing and building codes. ° &'%'\%iﬂlfﬁﬁ—ﬂ ﬁﬁzk&iiimﬂm; of the lavatory.
/ « Inspect the waste and supply tubing; replace if necessary. ~ * RESKERHUKE, MEBRRER. « Remove the lavatory, cut the area shown in . REBRABT SoOEEEE.
e Prior to installation, unpack the new lavatory and carefully ~ ® giﬁgjﬁi}u . %ﬁjﬁféﬁﬁ%ﬁéﬁé’l@jﬁ , iajxlﬁj%%%zﬁ%ﬁﬁﬁ% the template into a round rim.
inspect it for damage. Return the lavatory to its protective R R mEW, AR o o ; ; o i N e R N
/ \ carton until you are ready to install it. Imn:tna&g;?ufgl:g?;;r:gcﬂ;ar:r; according to the %’Eﬁ WERHIES], RERLIMAAE
o For replacement installations, make sure the existing o HANEHZHFE MHRABNESANSHRAEN : °
\ DR”—L A o 1 1 HOLE ON cutout is the same or smaller size as the new lavatory. Mﬁiﬁﬁﬂﬂ/ﬁéﬂ‘o S = % Apolv two beads of sealant to the inside of TR S NI AR
e Usethet lat lied with the lavatory t k o BEHFEABNENELLEMHBLNTEE, RV EBZTIH ° pply two beaas of sealant 1o the Inside o ® MXESFE RR LR
/ 345 TH E LEFT AND RIGHT SI DE ccfﬁecfsiiemgue;oeuﬁupp lecwi © lavatory fo mar £, the pencil line.
mm ZEE %%E—/I\ CD 1 1 § %?L e Kobhler lavatory is made according to American National ° ﬂﬁﬂfﬁ'ﬁ@fﬁ%’fﬁﬁ% Atfﬁ\%‘]iﬁﬁq . SERERZE4E e Spread the sealant evenly with a putty knife. o HBRMKIIEBEHEHIEKS.
Standard that it can match the American lavatory fittings . B, Hetle@ficfrogszFak.
/ Any other lavatory fittings may not fit for kohler lavatory. N
e Fixture dimensions are nominal and conform to tolerances ~ ® BRI AREE, REM & XEASMEFRA(A112.19.2-
\\ ‘ established by ASME Standards (A112.19.2-2018). 2$018)0 sGET / //////// /.i
e The product complies with GB/T 6952-2015. o s 6952-2013, e Position the lavatory on the countertop, ///M o BURZHELEL, $iXEIMNETER
/ e Please purchase 880089-CP for installation if the e MBAMAELEENKTKEARAR, BRUWIRH then fix it by tight the nuts. E/J . AR R =
— 100mm = \ operating rod is not long enough. 880089-CPkEL A =%, ‘ ,//“
300 / TOOLS AND MATERIALS ﬁﬁ%lﬁ_&%ﬂ. /I\ CAUTION: Risk of personal injury or \ % A\ Dil: REESEZERIFET R, BA
mm . (TRl 4t ) product damage. Large lavatories are N / l %Eﬁﬁ%’fﬁ LE, FHRABLG—ERIK
‘ (Not Supplied) 1551 N m very heavy. Get help lifting the lavatory [//1 R
/ e Template(supplied) . i%;ﬁéghh) into place. %
o Safety glasses * TR /
] Pepcil y g% e Immediately wipe away any excess sealant, /% o VHELZRMIFIMK, MRAINESEH
\  Scissors s B and fill any voids as needed. o B, B BREE.
* Tape measure ¢ %R e Verify that the lavatory has not moved out s WERRNMEER.
 Putty knife ° R ;EKH of position.
e Plumbers putty © KERER « Allow the sealant to cure for at least 30 o BOB=1+0w, UHBKRTERS A4
e Hacksaw o W o minutes before proceeding. TR,
* Keyhole saw or saber saw o RALERTFIREE « Connect the faucet supply lines. o ERAKMLHBUKE.
e Drill (11mm drill bit) ° ':Eﬁ(_ﬁéjﬂ Tmm5k) e Connect the drain assembly. o EEHIKKRE.
e Adjustable wrench o CEENREH e Open the faucet valves, and check for o FFRKELRIT, REEEGSR.
o ‘(_________ ___________ 100 e N e Pipe wrench o MREIREH leakage.
mm e Tubing cutter e TIET] e Clean up with a non-abrasive cleaner. o FHIFEMEMIBEETIKREE.
I 173mm - z "y
| ROUGHING-IN RsTE IMPORTANT CONSUMER Pl 2N
Reference Value Unit: mm - FEIE
/ SEH #i: =« INFORMATION (CARE AND (FFIEINEE
\ CLEANING)
/ e To keep your lavatory looking new, make sure you rinse it o AHRFBRENXZWH, MHEREXMERARMESRET %,
108 120 out thoroughly after each use. DO NOT USE Y71 Fé'ﬁj!;’liﬁ‘]i%fﬁ?f']z DA S Bl % R BOR B 2 YR TE
Q 155 ABRASIVES on this product, as they will scratch and ruin BEBRMESRE, MRS, TEARAZAERRE
' ' 777 s the surface. Stubborn stains, paint, or tar can be removed iR
e ‘ a g with turpentine or paint thinner.
5’ e Do not use the product in the water below 0°C. o AEECCRTHIKKZEHRFER.
\ \ e Please do not use hard materials (like scouring pad) to o ENFANALKREEEMBIREELRE, BAIE~RH
i i clean product surface, especially the product logo. Rak,
\ CUT ALONG THIS LINE il
b = A .
IDIJ: —% ]]%J / Inner
\ mR<f| 399 | 399 108 -~
/ Kohler reserves the right to change marked dimensions without prior notice.
Y \ Y Y MDA SR BN EER R iR R T R, LB BB,
\ | Bolt M6 x 60
/ 7t SE A 45 12#¢ M6 x 60
| s
\ INSTALL NEW LAVATORY R
| e Cut the template on the cutout line. . ﬁfﬂgﬂiﬁfﬂ%ﬁfztﬂﬂj . )
| / e Position the template on the countertop to T~ o RBUFERMEBELSE, ﬁﬁ_ﬁﬂﬁﬁ IKH 3k 1418085 Matal Gasket M
F RO NT R I M O F \ | ensure clearance between the lavatory, 7 AN PR 2 A R BHIEE. M6 Butterfly Bolt Asm Mgtéggg;t 6
| faucet, and backsplash. / Q o \ M6tk U 82 4 22 5 40 {1 .
TH E CO U NTE RTO P | / e Verify cabinet clearance beneath the '/ \' o ERHEATHHYELERBEHE, @\
s tertop. Rubber Gasket
2 =2\ % \ coun \ ) o
A E R4 i Vs \ y =
\ ! LAVATORY FRONT END IS 110mm e Trace the template on the countertop with a AN - d o ARERVIZEERZEEIL, RIBER — Washer
pencil. Mark the center hole and two = RHERTLREFILET2NREAL. -\ 7
/ \ | / OUT OF TH E COU NTE RTOP position of mounting holes on the " \‘
e M=TIRV = VAN countertop.
| 1]y
¢41 Omm / m A J —lﬁ'ﬁ& |I:I:II = .ﬁ 1 1 Omm e Re-check the clearance between the o HEANMERE. Kk, BHB/AKIREEDIE / Butterfly Nut M6
\ | lavatory, faucet, backsplash, and cabinet. MBI REE., MBEEARYIEENAL Mot 282 1
[ / Adjust the template accordingly. &,
\ | / e Drilltwo ¢ 11 holes at the position marked o MfhLEAE LMFRRAEE2D ¢ 1T1H97L.
\ | on the countertop.
| / e Cut the opening in the countertop along the e JHEBVFEANERNHFEELZNMUYIAS
OUTL'NE OF THE PRODUCT ~_ | - inside edge of the pencil line. M.
e Drill faucet hole according to the installation o IRIBEEMLLLERPHNLREA.
}-Ll- oo 9'\ ZFQJ;I_Z —~ ! __— of the faucet.

No.2 KOHLER ROAD, SANSHUI CENTRAL INDUSTRIAL PARK, LEPING TOWN, SANSHUI DIST., FOSHAN, GUANGDONG, PRC POST CODE: 528137
IHREFELUTHT =KX EEE=KP LTI RXEEIAKE2S Midg: 528137

8# MENGSHAN RD, ECONOMIC DEVELOPMENT ZONE OF HUANTAI, ZIBO, SHANDONG, CHINA POST CODE: 256410

LEREHEMESERFHALAXEKLILEKSS Mit: 256410 1472123-T01-A
NO.1 KOHLER STREET, ECONOMIC DEVELOPMENT ZONE OF FAKU COUNTY, SHENYANG LIAONING PROVINCE, PRC POST CODE: 110400 © Copyright Kohler China Investment Co., Ltd. 2021



